Lesnom 2.2 Limean Function Netes

Main Notes/Examples
Ideas/Questions
Linear _ _
X *  When points on a graph lie along a
Relations straight line, it is called a linear relation.
« Linear relations can be represented by an equation,
for example, the equation of this graph can be 5
writtenas x +y = 8. y
Standard Linear equations are often written in standard form:
Form Ax + B \\_4) =G
where A, B, and C are integers.

Directions: Write each equation in standard form.
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Slope Slope is the constant rate of change. The slope is the %.

Change in y values divided by change in x values.
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Directions: Write the equation in slope-intercept form, then graph the line.
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X- and Y- * The point at which the graph intersects the %
x-axis is called the x-intercept. Likewise, the
Intercepts point at which the graph intersects the y-
axis is called the y-intercept. /
A
¢ Identify the x- and y-intercept of the graph ¥
shown on the right. v,
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The x-intercept is also referred to as a _root Z=ero
or_2oluXM oA  tothe equation.
Finding To find the x-intercept of an equation, set y equal to 0 and solve for x.
To find the y-intercept of an equation, set x equal to 0 and solve for y.
Intercepts You can use these points to graph the equation.
Algebralcally Example: Find the x- and y-intercepts of the equation y=-2x+5 é
\ X-intercept Y=o = intercept =0
0=-2X+5 g= -2+ 5
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Directions: Find the x- and y-intercept of each equation. Then, graph the equation using the
intercepts. .
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